Monday
B-WALT; divide 2- and 3-digit numbers by 3, 4, 5 and 6

Steps to success
Copy the calculation carefully
Use column division to solve it
Use your knowledge of times-tables to help you
Use your knowledge of column subtraction to help you
Record your answer
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Tuesday
B-WALT; divide 2-digit numbers and make predictions

Steps to success
Copy the calculation carefully
Use column division to solve it
Use your knowledge of times-tables to help you
Use your knowledge of column subtraction to help you
Record your answer


Divide 81 by 3, 4, 5, 6 and 8, 

Divide 92 by the same numbers. 

Predict if there will be a remainder. 
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Wednesday
WALT; identify factor pairs and use them to answer related multiplications and divisions

Steps to success
Identify factor pairs (pairs of numbers that multiply to give another number) for numbers 
Use the factor pairs to help answer multiplications
Use factor pairs to help answer divisions


[image: ]

Friday

B- WALT; identify and describe patterns when subtracting numbers from 1000

Steps to success
Make a 3-digit number and subtract from 1000
Use the same digits to make 2 different numbers and repeat
Add the digits of each answer together
What do you notice?
Explain the pattern
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Answers
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350 + [0 = 1000
+ 520 = 1000
710 + 0 = 1000
+ 930 = 1000
245 + 1 = 1000
+ 325 =1000
352 + [0 =1000
+ 489 = 1000

407 + 1 = 1000
+ 814 = 1000
648 + 1 = 1000
+73 =1000
216 + 1 = 1000
+538 = 1000
333 + 1 =1000
+471=1000

Wilf says, ‘Think of any 3-digit number with five 10s.
Its complement to 1000 will have four 10s.” Test this.
Is he right?
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Find complements to 1000

. 350 + 650 = 1000 9.

. 480 + 520 = 1000 10.
. 710 + 290 = 1000 11.
. 70 +930 = 1000 12.
245 + 755 = 1000 13.
. 675+ 325 =1000 14.
352 + 648 = 1000 15.
. 511 + 489 = 1000 16.

407 + 593 = 1000
186 + 814 = 1000
648 + 352= 1000
927 +73 = 1000

216 + 784 = 1000
462 + 538 = 1000
333 + 667 = 1000
529 + 471 = 1000
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. This is true for most examples, e.g. 348 + 652 = 1000 but is
not true for all, e.g. 350 + 650 = 1000.
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